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QUESTION 1

What would indicate intra-partition parallelism in an Optimizer Plan?
A.BTQ

B.LTQ

C.IP

D.DTQ

Correct Answer: B

QUESTION 2

CREATE TABLE t1
(deptno  CHAR(2) NOT NULL,
deptname YARCHAR(36) NOT NULL,
emMpno  CHAR(3) NOT NULL)

Table T1 was created by executing the following statement:

Immediately after creation, table T1 was populated with 10 rows. Later, user USER1 ran an application that
inserted 100,000 rows into table T1.

The following query is frequently ran against the T1 table:

SELECT deptno, empno, deptname FROM t1 WHERE deptno = \'EN\\' AND empno =\\"'123\\' Assuming
current statics exist for the table and index, which index will provide optimal performance for this query?

A. CREATE INDEX idx1 ON t1 (deptno, empno) INCLUDE (deptname)

B. CREATE INDEX idx1 ON t1 (deptno, empno)

C. CREATE INDEX idx1 ON t1 (deptno) INCLUDE (empno)

D. CREATE INDEX idx1 ON t1 (deptno)

Correct Answer: B

QUESTION 3
If the shared sort heap threshold parameter SHEAPTHRES_SHR is set to AUTOMATIC, what will happen?

A. All sorts will be done in a temporary table space.
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B. The shared sort memory allocation will be controlled by DB2.
C. No shared memory is allocated for sorting.
D. All sorts will be done in shared memory.

Correct Answer: B

QUESTION 4

A partitioned instance named DB2INST1 uses the following db2nodes.cfg file:

If the CREATE DATABASE command is executed on server C, which partition will be the catalog partition?
A.0

B.1

C. 4

D.6

Correct Answer: C

QUESTION 5

At which two levels can events be audited? (Choose two.)
A. Instance level

B. Database level

C. Server level

D. Operating System level

E. Node level

Correct Answer: AB
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